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Note:

This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each questron carries
19 marks and ma ’have a;-b, c as sub questions. : s o

/ PART+A

(25 Marks)
Classify the Arithmetic Micro operations. [2]
Explain the role of program counter in Instruction execution. (3]
Draw and Explam the Mrcromstructron Format {2]..
' | 3]
[2]

Drfferentlate synchronous and asynchronous communlcanon 3]
Define logical address and physical address. 2]
Explain the three main purposes of an operating system. [3]
Deﬁne Free- Space list [2]

[3]

(50 Marks)"‘

Calculate the arithmetic operations (+70) + (+80) and (-70) + (-80) with binary
numbers in signed 2’s complement representation. Use eight bits to accommodate each
number together with its sign. Show that overflow Occurs in both cases.
Explam dlfferent Shrft Micro- operatrons ‘with examples

[545] -~

"":Explam Bmary Adder- Sub tractor w1th‘D1agram in detarl """"
Explain in detail about RISC architecture.

[5+5]

[10]

Explain the Organization of Micro programmed control unit in detail.

OR
Explain.organization of a.1 K x 1 memory. chip with neat diagram. .
Explam Assocrat"' ¢ mappmg techmque w1th its ad /an ages and d1sa" vantages.

| D1scuss the followmg
a) Parallel priority Interrupt.
b) Priority Encoder. [5+5]

OR




[10]

""'v.lso,a) / Explam in detall about F11e sharmg and protectlon

b) Discuss about Tree structured directories with diagram. [5+5]
OR
11.a) Explain File system mounting in detail.

b) Exp]am about Acychc Graph D1rectorles structure w1th dlagram [5+5]
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